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veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ meYeer ØeMveeW kesâ Debkeâ

meceeve nQ~

Note : Attempt any five questions. All questions carry

equal marks.

Q. 1. efveo&Meve keäÙee nw ? efveo&Meve keâer efJeefYevve efJeefOeÙeeW keâe mebef#ehle

JeCe&ve keâerefpeS~

What is Sampling ? Discuss briefly the different

methods of sampling.
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Q. 2. jsKeerÙe Øe›eâceve keâer meerceeDeeW Je cenlJe keâer efJeJesÛevee keâerefpeS~

Discuss the limitation and importance of Linear

Programming.

Q. 3. efJe<ecelee kesâ DeLe& Je cenlJe keâes mecePeeFS~

Explain the meaning and importance of Skewness.

Q. 4. keâeF& Jeie& hejer#eCe efkeâve heefjefmLeefleÙeeW ceW ØeÙeesie keâjvee ÛeeefnS ?

Under what condition is Chi-Square Test

applicable  ?

Q. 5. ‘keâeye–[ieueme Glheeove heâueve’ keâer JÙeeKÙee keâerefpeS~

Explain the ‘‘Cobb - Douglas Production Function’’.

Q. 6. efvecve DeebkeâÌ[eW keâer meneÙelee mes keâeue& efheÙeme&ve men–mecyevOe iegCeebkeâ

%eele keâerefpeS :

Calculate Karl Pearson's correlation coefficient

from the following data :

x 11 10 9 8 7 6 5

y 20 18 12 8 10 5 4
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Q. 7. Øeleerheieceve meceerkeâjCe mes Deehe keäÙee mecePeles nQ ? JÙeeKÙee keâerefpeS~

What do you mean by Regression Equation ?

Explain it.

Q. 8. efvecveefueefKele mecebkeâes mes x = 5 kesâ efueS y keâe ceeve %eele keâerefpeS~

Find the value of y for x = 5, from the data given

below :

x 0 2 6

y 11 15 25

Q. 9. efvecveefueefKele DevlemLe Jeie& DeeJe=efòeÙeeW keâer meneÙelee mes Oeveelcekeâ

leLee $e+Ceelcekeâ Jeie& DeeJe=efòeÙeeB %eele keâerefpeS~ DeJeueeskeâveeW keâer

kegâue mebKÙee Yeer yeleeDees~

With the help of the following ultimate class-

frequencies, find the frequencies of positive and

negative classes and also the total number of

observation :

   

   

AB 300, Ab 200

aB 250, ab 100

 

 

Q. 10. oes efmekeäkesâ Skeâ meeLe GÚeues peeles nQ~ Skeâ Meer<e& Deewj Skeâ efÛele

Deeves keâer ØeeefÙekeâlee %eele keâerefpeS~

Two coins are tossed simultaneously. Find the

probability of getting a head and a tail.
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